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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 299 2.2 1 4 54.6 100

2 299 3.7 2.1 8 46.1 100

3 299 5.3 3.3 12 43.9 100

4 299 4.3 2.4 10 43.2 100

5 299 7.1 4.2 16 44.3 100
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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QUESTION 4


Explain the connections between TWO of the following that are to do with life on the Home Front
during the First World War.	 [10]


	 •	 Propaganda
	 •	 Recruitment
	 •	 Conscription
	 •	 The growth of disillusionment


Issues chosen:                                                         and                                                       
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Question 5 


 
Mark allocation: AO1 (b) AO2 AO3 AO4(a-d) SPaG 


19 4   12 3 


 


Question:  How far do you agree with this interpretation of the 
reasons for the passing of the voting Act of 1918? [16+3] 


 


Band descriptors and mark allocations 
 


 AO1(b)  4 marks AO4 (a-d)  12 marks 


BAND 4 
 


Demonstrates very detailed 
understanding of the key 
feature in the question. 


4 Fully analyses and evaluates 
how and why interpretations of 
this issue differ, 
demonstrating awareness of 
the wider historical debate 
over the issue. A well 
substantiated judgement about 
the accuracy of the 
interpretation is reached, set 
within the context of the 
historical events studied. The 
relevance of the authorship of 
the interpretation is discussed. 


10-12 


BAND 3 
 


Demonstrates detailed 
understanding of the key 
feature in the question. 


3 Analyses and evaluates how 
and why interpretations of this 
issue differ. Some 
understanding of the wider 
historical debate over the 
issue is displayed. A clear 
judgement is reached, 
displaying understanding of 
how and why interpretations of 
the issue may differ. 
Appropriate reference is made 
to the authorship.  


7-9 


BAND 2 
 


Demonstrates some 
understanding of the key 
feature in the question. 


2 Some analysis and evaluation 
of the interpretation and other 
interpretations is displayed. A 
judgement is reached with 
superficial reference made to 
authorship. 


4-6 


BAND 1 
 


Demonstrates basic 
understanding of the key 
feature in the question. 


1 Makes simple comments about 
the interpretation with little 
analysis or evaluation. Little or 
no judgement reached. 


1-3 


 


Use 0 for incorrect or irrelevant answers. 
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Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material identified 
below. Some of the issues to consider are:  
 


 the historian’s interpretation is that without the campaigning of the suffragettes, the 1918 voting 
act would not have been passed; this interpretation appears to be based on several issues: 


 the suffragettes changed the way in which women were viewed, instigating a debate about 
women’s status and role in society; 


 the interpretation would be based upon the wide-ranging campaign undertaken by the 
suffragettes; 


 factors such as adopting a more militant approach, ‘Women’s Sunday’, the campaigning of Edith 
New and the death of Emily Davison at the 1913 Derby served as a rallying point for the suffrage 
movement and may have contributed to the forming of the interpretation; 


 candidates may assert that the author of the interpretation is a feminist writer and historian; the 
focus of the article is clearly on the impact and legacy of the suffragettes and this will have 
contributed to the forming of the interpretation; the author would have undertaken relevant 
research in forming the interpretation; 


 however, in some respects this interpretation is limited in scope; it is possible for the reasons for 
the passing of the 1918 Act to be interpreted differently; 


 the war undoubtedly played a very important role in the passing of the Act; 


 the significant contribution made by women to the war effort, for example, in munitions factories, 
certainly contributed to women being given the vote; 


 the suffragettes supported the war effort and their influence was lessened due to the demands of 
the war; 


 candidates may therefore assert that the interpretation of the author is narrow in focus and she is 
writing from a particular perspective to influence a modern audience; 


 although research would have been undertaken, the interpretation may be subjective; it is part of 
the wider historical debate that exists over the reasons for the passing of the 1918 voting act. 


 
After awarding a band and a mark for the response, apply the performance descriptors for spelling, 
punctuation and the accurate use of grammar (SPaG) and specialist terms that follow. 
 
In applying these performance descriptors: 
- learners may only receive SPaG marks for responses that are in the context of the demands of 


the question; that is, where learners have made a genuine attempt to answer the question 
- the allocation of SPaG marks should take into account the level of the qualification. 
 


Band Marks Performance descriptions 


High 3  Learners spell and punctuate with consistent accuracy 


 Learners use rules of grammar with effective control of meaning 
overall 


 Learners use a wide range of specialist terms as appropriate 


Intermediate 


 


2   Learners spell and punctuate with considerable accuracy 


 Learners use rules of grammar with general control of meaning 
overall 


 Learners use a good range of specialist terms as appropriate 


Threshold 


 


1  Learners spell and punctuate with reasonable accuracy 


 Learners use rules of grammar with some control of meaning and 
any errors do not significantly hinder meaning overall  


 Learners use a limited range of specialist terms as appropriate 


 


 


0  The learner writes nothing 


 The learner’s response does not relate to the question 


 The learner’s achievement in SPaG does not reach the threshold 
performance level, for example errors in spelling, punctuation and 
grammar severely hinder meaning 


 
C100UCO-1 Edquas GCSE History - Component 1 MS Summer 2018/DM 
















Sticky Note

A supported counter-view is provided, giving the response good balance.



Sticky Note

The candidate correctly uses the term 'interpretation' and recognises the particular predilections of the author.



Sticky Note

The candidate demonstrates very detailed understanding of the key feature in the question throughout the reponse.







Sticky Note

The candidate demonstrates some, implied, understanding of the wider historical debate.



Sticky Note

AO1 Band 4 - very good knowledge and understanding displayed.
AO4 low Band 4 - analyses and evaluates the interpretation; demonstrates implied understanding of the wider historical debate; considers the relevance of the authorship. The title of the article and potential audience could also have been considered.
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QUESTION 5


Read the interpretation below and then answer the question which follows.


The suffragettes contributed to the making of our modern democracy by bringing about a 
cultural change in the way women were seen. They aroused a passionate debate about 
women’s status and inequality in society so that men’s control over women was never 
the same again. No longer doormats, but assertive, strong-minded women. Without their 
struggle the 1918 voting Act would not have been passed.


[Jane Purvis, a feminist writer and historian in an article called ‘We owe them the vote’, 
published in The Guardian newspaper in 2008]


How far do you agree with this interpretation of the reasons for the passing of the voting Act of 
1918?	 [16]


[In your answer you should refer to how and why interpretations of this issue differ. Use your own 
knowledge and understanding of the wider historical debate over this issue to reach a well-supported 
judgement.]


Marks for spelling, punctuation and the accurate use of grammar and specialist terms are allocated
to this question.	 [3]
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MARK SCHEME SUMMER 2018 
 


Component 1: BRITISH STUDY IN DEPTH 
 


1C. Empire, Reform and War: Britain, 1890-1914 
 


Question 1 


 
Mark allocation: AO1 AO2 AO3 (a) AO4 


4   4  


  


Question:   What can be learnt from Sources A and B about the need 
for social reform in this period? [4] 


 
Band descriptors and mark allocations 
 


 AO3(a)  4 marks 
 


BAND 2 
 


Analyses and uses the content of both sources for the enquiry.  
If answer is imbalanced in use of sources award 3 marks. 
 


3-4 


BAND 1 
 


Generalised answer with little analysis, paraphrasing or describing 
sources only. 


1-2 


 
 


Use 0 for incorrect or irrelevant answers. 
 
Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are:  
 


 both sources show that there was a need for social reform in this period; 


 Source A shows that low wages paid to unskilled labour led to poor living standards; 


 living standards were reflected in a lack of food and therefore nutrition which resulted in 
unfitness for work; 


 the children born to these families were similarly afflicted, therefore continuing the cycle; 


 Source B shows a street scene of the period, reflecting poor living conditions; 


 the condition of the children in terms of their clothing and general appearance suggests 
they are working class and in poverty.  


  
















Sticky Note

AO1 is not required for this question, although it can contextualise the response. There is insufficient focus on the sources in this response.



Sticky Note

AO3 Band 1 - generalised answer with little analysis of the sources.
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Answer all questions.


QUESTION 1


Study the sources below and then answer the question which follows.


Source A


The low wages paid to unskilled workers make them unfit. Their unfitness means low wages, 
low wages means insufficient food, insufficient food means unfitness for work, so that the 
vicious circle is complete. Their children share the difficulties of their parents and, although 
healthy when born, grow up weak and diseased.


[Seebohm Rowntree, writing in his book Poverty: A Study in Town Life, published in 1902]


Source B


[A photograph taken in the East End of London in the late 1890s]







(C100UC0-1) Turn over.
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What can be learnt from Sources A and B about the need for social reform in this period?	 [4]
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Question 2  
 
Mark allocation: AO1 (b) AO2 AO3 (a+b) AO4 


8 2  6  


 


Question:  To what extent does this source accurately reflect the 
success of the tactics used on the Western Front? [8] 


 


Band descriptors and mark allocations 
 


 AO1(b)  2 marks  AO3 (a+b)  6 marks 
 


   BAND 3 
 


Analyses and evaluates the 
accuracy of the source, set 
within the context of the 
historical events studied. The 
strengths and limitations of the 
source material are fully 
addressed and a substantiated 
judgement is reached.  


5-6 


BAND 2 
 


Demonstrates 
detailed 
understanding of 
the key feature in 
the question. 


2 BAND 2 
 


Begins to analyse and evaluate 
the source. A judgement, with 
some support is reached, 
discussing the accuracy of the 
source material set within the 
historical context. 


3-4 


BAND 1 
 


Demonstrates some 
understanding of 
the key feature in 
the question. 


1 BAND 1 
 


Very basic judgement reached 
about the source with little or 
no analysis or evaluation. 


1-2 


 
Use 0 for incorrect or irrelevant answers. 
 
Indicative content 
 


This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are:  
 


 the source is partially accurate in reflecting the success of the tactics used on the 
Western Front; 


 the source clearly reflects the perspective of the British Army Command and will 
inevitably portray the campaign as being a success, having worn down the German 
resolve and ability to resist further assaults; 


 the Somme offensive did wear down the German Army and although territorial gains 
were below expectations, it showed the logistical superiority of the Allies; 


 the source is from the official report of General Haig and consideration needs to be taken 
of the audience; it would clearly assert that the offensive was a success in order to justify 
the rationale for the campaign as well as celebrating its success; 


 however, in order to fully evaluate the accuracy of the source, answers should take into 
account the wider historical context; 


 candidates may assert that the provenance of the source affects its accuracy; 


 candidates may conclude that the tactics used on the Western Front were not a success, 
reflected in the huge losses incurred for minimal gains; 


 it may be asserted that the source does not accurately reflect the success of the tactics 
used on the Western Front due to its bias, intended audience and narrow focus. 


  












Sticky Note

The candidate demonstrates reasonable understanding of the key feature in this paragraph.



Sticky Note

Begins to address the weakness of source, by commenting upon the authorship and more importantly, the audience.







Sticky Note

The judgement is more implied rather than clearly made. The response focuses more on the limitations of the source material.



Sticky Note

AO1 Band 2 - just enough understanding of the key feature demonstrated.
AO3 Band 2 - begins to analyse source; some consideration of authorship and audience; weak judgement with some relevant contextual support.
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QUESTION 2


Study the source below and then answer the question which follows.


Source C


The enemy’s power has not yet been broken, but the Somme battle has shown beyond 
doubt the ability of our armies to gain its objectives. The German Army, supported by the 
strongest fortifications, suffered defeat on the Somme this year. Though bad weather has 
given them a respite, they will have little confidence in their ability to resist our assaults.


[An extract from the official report sent by General Douglas Haig to the British Government 
following the Battle of the Somme (December 1916)]


To what extent does this source accurately reflect the success of the tactics used on the Western 
Front?	 [8]


[In your answer you should refer to the strengths and limitations of the source and use your own 
knowledge and understanding of the historical context.]
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Question 3  


 
Mark allocation: AO1 (a+b) AO2 AO3 AO4 


12 4 8   


 


Question:  Why was the use of concentration camps by the British 
significant during the Second Boer War? [12] 


 
Band descriptors and mark allocations 
 


 AO1(a+b)  4 marks AO2  8 marks 
 


BAND 4 
 


Demonstrates very detailed 
knowledge and 
understanding of the key 
feature in the question. 


4 Fully explains the significance 
of the identified issue. A fully 
reasoned and well supported 
judgement is reached, set 
within the relevant historical 
context. 


7-8 


BAND 3 
 


Demonstrates detailed 
knowledge and 
understanding of the key 
feature in the question. 


3 Explains the significance of 
the identified issue. The 
answer reaches a supported 
judgement, set within the 
historical context. 


5-6 


BAND 2 
 


Demonstrates some 
knowledge and 
understanding of the key 
feature in the question. 


2 Begins to explain the 
significance of the identified 
issue, culminating in a weakly 
supported judgement. 


3-4 


BAND 1 
 


Demonstrates basic 
knowledge and 
understanding of the key 
feature in the question. 


1 A basic, unsupported 
explanation is provided 
regarding significance. 


1-2 


 
Use 0 for incorrect or irrelevant answers. 
 
Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are:  
 


 the use of concentration camps by the British during the Second Boer War was a very 
significant development that had wide ranging implications; 


 the early stages of the war had seen several British reverses as the Boers adopted 
tactics favourable to the terrain and conditions; 


 the military superiority of the British soon turned the war in their favour, until the Boers 
resorted to guerrilla warfare that dragged the British forces into a drawn out battle; 


 as disguised Boer forces terrorised British forces, new tactics were introduced including 
the blockhouse system and scorched earth policy; this was supplemented by the 
creation of concentration camps into which Boer farming families were placed in order to 
prevent them assisting Boer forces; 


 the use of concentration camps was significant as it denied Boer commandos access to 
food, shelter and horses; 


  







 


6 
 


 they also added a significant cost to the war in terms of financial and manpower 
demands; 


 the camps became politically significant as conditions deteriorated; they were poorly 
administered and when disease and malnutrition spread, many thousands died; 


 the use of the camps and the conditions were very significant in changing attitudes 
towards the war in Britain; 


 a commission of enquiry, chaired by Millicent Fawcett, was set up and the enquiry 
damaged the government’s reputation; it supported the claims of people such as Emily 
Hobhouse and was significant in improving conditions; 


 overall, the significance of the concentration camps lay in their military usefulness, but 
also in the very damaging political consequences which contributed to the electoral 
defeat of the Conservatives in 1906. 
 


 
  
















Sticky Note

The candidate demonstrates good AO1 throughout the response. However, the issue of significance should have been developed at various stages in the answer.



Sticky Note

The issue of significance is finally referred to, set within the historical context. It needed to be further developed however.



Pencil



Sticky Note

AO1 Band 4 - demonstrates detailed knowledge and understanding of the key feature.
AO2 Band 3 - explains the significance of the identified issue, but it could have been developed throughout the course of the response.
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QUESTION 3


Why was the use of concentration camps by the British significant during the Second Boer War?
	 [12]
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Question 4 


 
Mark allocation: AO1 (a+b) AO2 AO3 AO4 


10 2 8   


 


Question:   Explain the connections between TWO of the following 
that are to do with life on the Home Front during the First 
World War.  [10] 


 


Band descriptors and mark allocations 
 


 AO1(a+b)  2 marks AO2  8 marks 


    
BAND 4 
 
 


Fully explains the relevant 
connections between the 
chosen features, set within 
the correct historical 
context. 


7-8 


   BAND 3 
 


Explains the connections 
between the chosen 
features, set within the 
correct historical context. 


5-6 


BAND 2 
 


Demonstrates 
detailed knowledge 
and understanding 
of the key features 
in the question. 


2 BAND 2 
 


Begins to explain the 
connections between the 
chosen features. 


3-4 


BAND 1 
 


Demonstrates some 
knowledge and 
understanding of 
the key features in 
the question. 


1 BAND 1 
 


A basic, unsupported 
explanation of connections 
between the chosen 
features. 


1-2 


 


Use 0 for incorrect or irrelevant answers. 
 


Indicative content 
 


This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are: 
 


All the historical features mentioned in the question are inter-related; connections identified may 
include:  
 


 propaganda is connected to recruitment as a very effective campaign was instigated to 
encourage men to join up; propaganda posters, speeches and leaflets became a 
distinguishing feature and led to a surge in men joining the armed forces; 


 conscription is connected to recruitment since as the war wore on it became clear that 
recruitment alone would not suffice the requirements of the military; this led to the 
introduction of conscription in January 1916; 


 conscription is also connected to propaganda as the tone of such propaganda changed with 
the increased demands of the war; 


 the growth of disillusionment is connected to recruitment as its spread led to falling numbers 
of volunteers, hence the need for conscription; it is also connected to propaganda as 
propaganda was seen as an important method of combating war weariness. 


  












Sticky Note

Detailed knowledge and understanding of the chosen features demonstrated in the reponse.



Sticky Note

Connection established, partially set within the correct historical context.







Sticky Note

AO1 Band 2 - knowledge and understanding displayed.
AO2 low Band 3 - explains the connections between the chosen features; further contextualisation via exemplification was needed to access Band 4.











